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= x —11x* +36x-36=0

27. 35 —10x% + Tx +10= 0 0S5 3DEBw0 B Swreren, HEsPe DG Sowogratd

é:éogsg_o&.

P S: 3 —10x2 F7x+10=0.rrereeen. )
(L) B’ S b’ +ex+d =0 & ey
Za:—_b:—(—IO):&

a 3 3
c 7
saB=S="
op a 3
-d -1
Fvlalovey! an=—=—0
a 3



28.  iad+bri+cx+d=0 SDEwo @) Swreren 1, 2, 3, 4 @& a,b,c,d
o dendod 8508,
Aees $: 658 HEHEBes Soeeren 1, 2, 3, 4
808 x'pax’ +bx’ +ex+d
= (x=1)(x=2)(x=3)(x-4) =0
=x'—10x’ +35x* —50x+24=0
HHOBDHE DTee Heaseody Dy
a=-10, b=35, ¢c=-50, d=24

29. 10X’ +6x+8=0 Sreren o.f,y e @008 o’ +p’+y> DS éﬁ)gs&o&.
FES: a, B,y e
X’ —10x" +6x -8 =0 & Korere
a+B+y=10, af+PBy+ya=6, afy=8 o0l
o’ +B+y = (a+B+7) —2(af+Py+ya) =100—12
fol Byt =88

30. 1 _16x" +86x>—176x+105 =0 .B0E) Srerod 08804,
G S f(x) = x* —16x° +86x° —176% #105 1OE K00
f(1)=1-16+86-176+105=0
S f(x)=0 8% ‘1 Soeee
= f(x) & (x=1) 58esro80

1 1 -167 86 -176 105
0 1 157 -105
1 -15 71 -105 |0

s () = (x=1)(x =15x* + 71x —105)
=(x—Dg(x)

aHe g(x)=x’ —15x% +71x-105
g()=1-15+71-105=-48 %0
g(2)=-15%0
g(3)=27-135+123-105=0

5 g(x)=0 I35 ‘3 Sorwo



= x-3, g(x) % se8eseo¥0

3 1 -15 71 -105
0 3 -36 105
1 -12 35 0

g(x) = (x=3)(x* —12x +35)
=(x=3)(x=5)(x-7)

S S =(x=Dx=3)(x=5)(x=7)
213,57 e f(x)=0 5 Seeren.

8l. P 6x243x4+10=0 SNEEI8 28 Swrewo 2 wond, MDADS SwrereH
é:éogsg_o&.

FES: f(x)=x" —6x7 +3x+10 508 Kokw
F(x)=0 & 2 oo 808 f(x) & (x—2) & grhodme

2 1 6 3 10
o 2 -8 -0
1 4 5 J]o0

.‘.x3—6x2+3x+10=(X—z)(xz—4x_5)
=(x=2)(x-=1)(x-5)
=125 f(x)=0 % Sweeren

82, U4y’ —24x’+23x+18=0 HDoBBes0 Do) Sareeren ©o¥(3&S® &od, éﬁbéée&‘é‘\)‘;
d*HoLo&.
;S a—d, a, a+d 0 38 SHBEBes Koeren @HE 8. Lurere InBo

a—d+a+a+d:%

3a=6
a=2

-18
Boreere ©0 (a—d)a(a+d)=T



9
2_d2 —_2
a(a ) 5

9
24-d*)=—=
( ) 5

4(4-d*)=-9
16—4d*> =-9
4d* =25

d:is

1 .9
. __727_
- Qooeeeen 755

33. X 43px’+3gx+r=0 @0 Swreren KHnFES wod, JaHErY Toagol.
Jegf S: Sormeren e 3ES &9

o %,a,aR 00804,

(%j (a)(aR) = —r

=a =-r

=a=(-r)"

X0 +3px +3qx+r=0 8y Sreo B8
= ('Y +3p(=r"?) +3g(-r)" +r=0

= —r+3pr’ =3¢t +r=0

2/3 1/3

pr =4qr
— pr2/3 =q
:>p3r:q3 a&(ﬁ\) @é@?\)é (‘00‘532530



2
34, ¥l -Zi 0 shstn swoesh MmOy Sree Ko e S5
BDEBer) ErFoBO, m=12 Ho&oHIE $QEErR) Teaidod.

2 x 1

SES: [ =x+ et

X
K0S B0 f(;j=0
X > X S X 1
=>|—|+——| ——|—|+—=0
m 4\ m 16\ m 72
. X x° X 1
ie,—+——-———+—=0
m 4m° l16bm 72
2 3
T A L
4 16 72
12 , 144 +144><12:O

_ X+ —=x*- X
m=12 ©ONJ T 7

X +3xT—9x+24=0
85. 43X 6 42x—4=0 NanE8Ed Barere FgEHEre Scerenr Ko aS0ss
:\’aﬁbédwﬁ)& é:&gsgo&

FES: f(x)=x"+3x° —6x°#2x—-4=0
1
X

HeRS HEBe0 f( J=O

4 3 2
=() ) )
X X X X
:%+3%—6L2+2l—4:0
X X X X
—4x* =0

=1+3x—6x" +2x°

A4x*=2x +6x7=3x-1=0



86. 2152 45042=0 o8P 85% JodS EOWGI JEBHY SrBos.
e 1 858 HELDO 21 4532 +5x+2=0

P=2, B=5 P =5 B=2

axho [ =P, =P

o 45 4 5x 42 =0 DE0EBe0 2.8 8555 Bobhs 335850 $&EBes0.

87. BOWO& iy —4x’+x+1=0
FES: 88 BBBea0 x4t —4x* +x+1=0
56 2.86° 5555 Do V8 VO P VBBe0 B $SQBEBEoR 42 T FrhoST

x2+x—4+l+i2=0

s (1) & (2 -2)+(y)-4=0

=3’ +y-6=0
= (+3)(y-2)=0
=y=-3,2

1
Case (i) y=—3:x+;=—3

= x’ +1=-3x
Sx +3x+1=0

394 3x5

2 2

1
Case (if) y=23x+;=2

= x’+1=2x

=x"-2x+1=0=(x—1)>=0



- Sogeeen 1,1, _31;
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